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QUESTION 1

In a calculation view of type cube with star join, you want to join three dimensions to the facts. Two of the dimensions
use full outer joins and one dimension uses a left outer join. You did NOT set cardinality of the data sources. Why will
this NOT work?

A. Full outer joins are restricted to one dimension in a star join node.

B. Full outer joins require cardinality to beset.

C. Full outer joins CANNOT be mixed in the same star join node with other join types.

D. Full outer joins are NOT available in the star join node.

Correct Answer: A

QUESTION 2

Which of the following data sources can you include in a graphical calculation view?
Note: There are 2 correct answers to this question.

A. SQL view

B. Table function

C. Scalar function

D. Procedure

Correct Answer:. AB

QUESTION 3

What restrictions apply to a Graph node that you include in a calculation view?
A. It must be the first node in the dataflow.

B. It must be the final node in the dataflow.

C. Its data source must be provided by a projection node.

D. It cannot be included in a calculation view of type dimension.

Correct Answer: A

QUESTION 4

What must you create to access a Predictive Analysis Library (PAL) procedure from inside your HDI container?
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A. Database connection
B. Wrapper
C. Function
D. Synonym

Correct Answer: C

QUESTION 5

Which types of data are used to represent spatial information?
Note: There are 2correct answers to this question.

A. Column data

B. Vector data

C. Raster data

D. Graph data

Correct Answer: BC
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